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119

A, B-and C share profits in proportion of 1/2 1/3 and 1/6. Their-

balance sheet is as follows

Liabil‘ities Rs. Assets Rs.
Capital : ~ Sundry assets 1,60,000
A 60,000
B 60,000
C‘ | ._ 40,000
| 1,60,000. . : Il,'60,0._00-

The partnership is dlssolved and assets are reahsed as first

reahsatlon Rs. 20,000;. second reahsatmn Rs 30 OOO third and
ﬁnal reahsatlon Rs. 50,000. "

Prepare a statement showing how the distribution ‘should be
made:

A B mmgum C @wrrurmssm 1/2, 1/3 wpyid 1/6 oﬁ]a&]g,‘gﬁw vélipeeni.

: @Gurra;aﬂem @l Hlevas Ugﬁ]uu Demrau(mLomm)

Quirm i {gaT . | Qemggisser @
Q?og,cb&;GiTI;- g UbUe Qonpgidmr 1,60,000
| A :éo,ooo .
B 60,000
©C 40,000
.160"0‘00 i : ©1,60,000

Sl LTETantd S@@OESILILL ). @&ng,ga;&oﬂm Siefler apge Sirey
em: 20,000; &iefed @remmeug Siey @ 30,000; Qr'grr@ﬁ]a) EPETDTEUGI

LOMHMILD @g}leﬂ &ira| ep. 50,000.
creu,ojrrg u@npga{oﬂggrru ereTLIgIGT. @{ﬂéﬁ)mascou_; st Qeuis:

Distinguish between Indian accounting standards and IFRS.

@i &7 sarsHu@IsGD WwHDD LeTET(H 57 a;emasaﬂu@a;@m

@GEDI_G’U_IU_{GITGT Caumuimaer eflend&s.
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20.

SECTION C — (3 x 10 = 30 marks)
- Answer any THREE questions.

A head office invoices goods to its branch at cost plus 50%.
Branch remits all cash received to the head office and all
expenses are met by head office. From the following particulars,
prepare the necessary accounts on the stock and debtors system
to show the profit (or) loss at the branch.

Rs. .

Stock on 1.1.2019 (invoice price) 27,900
- Debtorson 1.1.2038 -+ - .. . 20,400

Goods in&}oiced to thé bran_cb (invoice price) 1,563,000

Cash sales x '75,.000
Credit sales & | i s 93,‘(500
Cash collected from debtors - 91,200 :
Goods returned by debtors ' _ : 3,600
Goods returned to H.O by branch _ 4,500
Shortage of stock : - 1,350 .
‘Discount allowed. - W . 600
E)rpenses at the branch B-RE 16,200
Bad debts ’ o ‘_ ' e : 600

B DQICUDSLD, é;{g@}@l_m Henard@ L ssellenuyLer 50%
Geisg  sréms  A@GWLg " LHMID DTS QFeesamerb
s@@@b easd QsgsselLg. Spsrapibd saadsaldBHSI,

 sy&A UL hmib sLarmalaer pamuiled Gg,mmu.lrrm SEUEGSHEMET

swnflsg é]smmuﬁ]m @Gom_lm aaa)wgu BLLESMS &Tens.

20 -
s 1.1.2019 @Lmiy oNaw) 27,900
siamaflsar 1.1.2019° Bl 20,400
' é]emm&s@ é{@]LJ[QUJ FTES, (@l_rruu Gﬂ]aneu) : 1,53,000.
Qyrés aﬁ],rpuaoasr P SR : | . '75,000
sLrelpuier. i | Fh 93,000
sLamaflsefl0Ghs Qrrésd m@cﬁlg,gg o : 91.,2,00
aal_GtrrroﬂasefﬂLL&@pg,J By §756 | 3 600
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5.
Havaruled ganaweamid SigleuwssHnE HEbAw FréE 4,500
 srsHmiy upDTEGMD 1,350
QL' b a@oggggﬂ | | 600
- fleverulen Qeeaser A . 16,200
e 600

21,

22.

What are the objectives and advantages of departmental
accounting?

glenpeurmil assoqré;a%]u_l@ﬂ'eh Crbméahiger Lojj),g')JLb BETENLDEHET WITen6 ?

A and B are partners in a firm. They sharé profits and losses in

the ratio of 3:1. Their balancesheet is as follows:

Lisbilities = - Rs. . Assets  Rs.
Capital Building 1,00,000
A 80,000 Plant 25,000
B 40,000 - Stock 40,000
Reserve 40,000 Debtors 70,000
Creditors 60,000 Cash - .5’0O0 :

Bills payable 20,000
2.40, ooo' - 2.40,000

C is admitted 1nto partnershlp for 1/5th share of the business on
the following terms :

(a)_ Buﬂdlng is revalued at Rs. 1,20,000
\('b) 'Pléint is depreciated to 80%
(c) ' Provision for bad debts is made 5%

(@D Stock is revalued at Rs. 30,000

(e) - C should introduce ‘50% of the ad]usted capitals of both A
' and B. Open various and the new balance sheet after the

admission of C.
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15.

16.

17.

A company had two departments A and B. A department
supplies the goods to B department at its usually selling price.
From the following figures prepare Departmental Trading Alc
for the year 2019 P

A B
Rs. Rs.
| Openmg stock (1 1. 2019) 30,000 -

Purchases N 2,10,000 " b
Transfer to B © 50,000 50,000
Sales ©2,00,000 60,000

Closing stock (31.12.2019) ~ 40,000 10,000

e® fpwsdo A B aagb @reng giopsd Qosdaper.
B glenpi@ Gauamgiong giop ‘A sisaiaw efhLimern efanauid

- smADg.  Spsew_  dugriseldlmbg  2019-1b - @TH\SSTET |

giepeurl eflwrLimy Genu oy sans@smar swLflésaL.

A B

<yybu srsdmoy (1.1.2019) 30,000 —
Qs merpse 2,10,000 '
B-&@ wrppliulL s7&@ 50,000 - 50,000
~ aflphrienar ©~2,00,000 . 60,000
@mis srée (31.12.2019)  © 40,000 10,000

‘Explain the various inodes of company diSSOlAutio..n.‘;

Hlinyo seoaLdo udCaup epiEmar cllaTées.

A and B are partners sharmg proﬁts in the ratio of 3:2. They
admit ‘C* into partnersh1p C pays. a premium of Rs. 1,000 for
1/4th share of profit. No goodwﬂl Alc appears in the books They
withdraw the amount of goodwill. J ournahse :

A opyb B, Qerursemer 3:2 aﬁ]aﬁ]g,g,ﬁw ue‘s]rr;r)gj G]asrrm@m

sl Lmaflsar wpair. C eremuaiany sl Lreranoudled) Sigindssart.

C % erenp 9fss5560 Gerusdad ki@ Gadrer ¢p. 1,000 (pevaioib,
QeqsSarmi. Ussssdler pHEAUWLT saréeE Comepeldene. jaiser
pHAUWInBESTS aubs Qsrasmis aBdss Cerarart. WsHE&HiL
QUGN [E.
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SECTION B — (6 x 5 = 25 marks) A whmb B AGunt sl Lrnemenwudd sl LmaflEer . e
' SIQUTEET TUD WHMID UL BGmeT 3:1 crem aﬂé]g;gﬁa) NS g16

Answer any FIVE questions. ' Qe TDETTT. oj6uTE@EHmL LI Booy Heaws GHluy amor
o ' A _ QurmtiLjser €. Qensgissdr ' m. -
13. From -the following particulars prepare a branch account e _ i : ‘
showing profit and loss at the branch ‘ - UREgsTy : : Sliglimisdr - 1,00,000
. . | A ' 80,000 HeTeumL L 25,000
(a) Opening stock at the branch — Rs. 15,000 ’ R gl 40.000 SUEAGLL  40.000°
() Goods sent to the branch — Rs. 45,000 5‘,”4’!{ oo .3 40,000 semafiadt 70,000 _-
_ sLapGgnise 60,000 Qurésd 5,000
| 2,40,000 © 2,40,000

- (d) Salaries —Rs. 5,000
o = S s _ - Spsramid | ﬂmsua;aﬂ@ C-erenuiauir 1/5 urtiE efluumsgle Qa;rr@g,g,j
(e) Other e’xpen'se‘s’—. Rs. 2,000 R : i : ; Fal_LmemenLoudléd G&rrasasuu@aﬂm,mrrrr :

: | (Sf) &LligLid wmoSing QEFLLIUJIJLII_I_ 1,20,000
Closing stock could not be ascertalned it is known that the ' i DuoAllS6 gﬂ A
branch usually sells at cost plus 20% the branch manager is - . . | ; ‘ .
entitled to a commission of 5% on the profit of the branch before ; (@) s sLaussTar @SSR 5% Gm@®5nd1mguLL51
charging such commission. ot : _ (™) L ETEE mﬁulﬂt_uuu_g,j 5. .30,000 b

“s

(<) oreunid 80% Gaibramd SamsdL UL L g

(2) A wpmd B ofCurflar sfsigu (yaeng,mg;'eﬁsu s50% ‘C

| £lapasrr@um sacusMBHS, Slamens asamasm&g SwTisg) @a)rru-
» eraniait Gegiss GalamGIb.

BL LS5 samsd[Hs. .
i, AT ) - UeCGam sems@smer swilsg wHmib C - C'S&rrg,gj ﬂm@ q‘e_ﬂu_l
(21). . Slevamidled QB Hloiss Fy&EmIY — 5. 15,000 | - Qmuy flevas @GHlly gt Qeiis. :

23. X, Y and Z are equal partners whose balancesheet.on 31.12:2018

(<) Senerd@ Si@ILiutiul L. FT&HGSSET — . 45,;500
' - ' is as follows

(@) efpueer — 5. 60,000 | _ ' : ' - Liabilities ‘Rs. - Assets Rs..
e ‘Capital Alcs Plant and machinery 4,000
() &gbueTm&er — . 5,000 O _ :
e : X g 1,600 Land and building - 4,800
(&) @prt Geoajadi = @ 2,000, < & . Y '~ 1,000 Furnitwre - 1,600
@ngﬁ] F&EmLenU sah g ss @Quasidme. gamd Samer  Xsloan - . 2,000 Debtqrs : A ! 1,200 _
aPssLTE SLsselane +20% aa@rp  SigliteL i  efpuemern : . Sundry creditors 10,000 Stock - 1,600 "
Qsw&psi. &lener  Gloemar @, Qomusdad (51& . sPLLSHEGEE i ' L
QpeHieuTed BBSEGD @a)rrum) 5% S G)JIEQIEJSSL_ILJL_ Couairpib: g Cashinland - 100
. R : . Y’s capital b
14. - List out the difference between-a branch and a department. g | ) 1,300
14,600, | 14,600

cﬁGU)GTaS@LD slep&EGh Qe Guw @@é@fﬁ Gauguim@saar
'ULLq_UJGﬂ@a; : _
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Due to lack of liquidity and weak financial position of the : : A :
partners, the firm is dissolved X and Y are not able to contribute L s APRIL 2022 . 62508/BS22 A/C 7922A/ AYz 2A
anything and a sum of Rs. 400 received from Z. All of them are : ' ' ‘ o

‘declared insolvent. :

= F,L“ma;vac;aﬂ ‘/A‘aﬁotmé{]

The assets are: realised : stock Rs. 1,000; plant ahd _ ‘Time : Three hours Maximum : 75 marks
machinery Rs. 2,000; furniture Rs. 400 land and bulldlngs S - N
Rs. 1,600 and debtors Rs. 1,100 only. Realisation expenses ‘ SECTI.ON Bes (1.0 ) SAVLEIG)
;Zmounted to Rs 100. You are required to close the books of the “y . , Answer any TEN questions.
rm ! _ : : i
X, Y wpmid Z ACuwnit Foflene ShL_L.n’GIﬂBSGﬂ' 31.12.2018, é{GUTQJ ) : _ L Whatds branch cxpenses accoqnt. .
SIQUTEEHEL LI @@uqﬁmmas GOLY eupommy - : - flanaré Qeweys GaMEE, GTETDIE GTETE ?
Qugitisdr b, Q&rrg@a;aseﬂ ' . i : =, , Con o , o™
: ‘ ' o wu iyl 2.  What are the main objects of maintaing branch account?
PSS FHEMEGSET SeTeUmLLd OO QuibSrbd 4,000 ‘ ' ' ’ R ' L
_ o . b ) : : ' Hevend seon & senar uymwiuugharar waslw Gprésmiser wirane ?
X 1,600 Hlom wpmb sligLd 4,800 | i R W
v 1,000 Si@psadr : 1,600 3'. What is a department? Explain with examples.
X wer &Lain ' 9.000 sLamallsdr - 1,200 SIOD GTETHITE) GTENET? D &MY EuTIRISEhL-6T éﬁlméS@a;. |
LbLIe a;Lca‘?;gGgrrrra;m 10,000 &rya;é;]@uu | ' “1,600 ' , 4. HOW will you allocate expenses in departmental accounts?
m&idd o arar errra;asm 100 S ' glann SenTédle Q&cva&fl‘strr"rﬁja;éir GTEUGUT 'uaﬂm';uu(b\aﬁlg)g]? :
Y’uﬁlqr (y)evg,emm : e | 5.  What do you mean by independent system of branch accounting?
(@ifswrs a@ssuurg) 1,300 : Haver semEA Lo salipamn Si@IbLIL| eeTLSeT QUITheT LITenaU?
- _ saulipeanD L & ® :
14 600 - 2 gl 4000 . 5 | 6. State the need of departmental éccbuﬁting. |
gl Lmeflsefib Biogseremo @ma)rrg,g,rr@m Hmid B {rf,]emcoanm : _ | - sleopaurflwurer sawsdlen Comalsears snpis.
GLorsnrargTaIDd, &l L TemeiD  S@MEHILILLE. X wpgd. Y , § s o e

<2 HCUMyTD aTgiad LRSTHD Q,mq_u_laﬁlcomsu wpmb Z-WQBmhHe 7.  What is a partnership deed? .

. 400 . GQuppm. égmmm@m Qg b Gurrsvrsurrasmrra;__ | el Lteimenid LSSTD arenpma) ey

Biom (W

- oifledlGs L L e, - _ _
Qensgisaer aﬂm$UULLm &rja;eﬁ@uq @. 1,000; g_r,etrmrrl_w LDLT)Q_[LD’ R 2 8. Explain the meamng of ﬁxed capltal
@UBSTD 5. 2,000; S@DEQET @ 400; Bl LHOID SLigL BI&SET - p
@b 1,600 pmid sLemmellser . 1,100 wLED. Siaf Qeerayser Hlenawimen ('PQ’:E’G‘“LO eramLgaT AUMEHT 6fleréEs.
100. Fal_L_mehrenoudetr Py SaLb. . : ) . ST S
. _ .@'6_\55 o apniae) B S 9.  What is revaluation account?
. Describe the development of accounting standard in India. : " e mym;ﬂunﬁ;@ 5WE@ GrampTed ﬂmm?

QpHwreiler 5W$8§]U46ﬂ6ﬁ aari&flenw efleuf&sayb.
& | X e EEd What do you mean’oy dissolution of a partnersh1p ﬁrm‘?

D taimanin seeUy eraTLg upd el SiPlaugl Wrgl?

SViention ény two objectives of accounting standards:
Bansd e 57 Corésmsdr gGseiib @rameL GHHIHE.
12. Explain and expand : IFRS ' '

| / oariss whmid edfleurse - IFRs.
8 62508/BS22A/CZ22A/AY22A , S



